
1) 21/2 ÷ 41/2

Answer: ____________

2) (-133) ÷ 7

Answer: ____________

3) A number was shared in the ratio 
7:14. The larger share was 36. What 
was the smaller amount?

Answer: ____________

4) Find the mode of the following set of data:

12, 12, 12, 12, 23, 23, 5, 5, 5, 5, 5, 
5, 37, 37, 37, 37, 11, 11, 11, 11, 11, 
11

Answer: ____________

5) (-58) + 80

Answer: ____________

6) Find area of triangle 
a = 71 in, b = 77 in

Answer: ____________

7) (-19) x (-30)

Answer: ____________

8) 15% of 18

Answer: ____________

9) Find area of 
rectangle having 
sides a = 24 in 
and b = 11 in

Answer: ____________

10) Find area of 
triangle s = 24 m

Answer: ____________

11) Find area of 
triangle s = 24 m

Answer: ____________

12) Find area of 
triangle s = 24 m

Answer: ____________

13) Find area of 
triangle s = 24 m

Answer: ____________

14) Round 11.124460 to the nearest 1000

Answer: ____________

15) Round 11.124460 to the nearest 1000

Answer: ____________
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16) 27 ÷ 2

Answer: ____________

17) 83.5 + 88.4

Answer: ____________

18) 5/4 x 7/1

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 14 ft

Answer: ____________

20) Find area of triangle
a = 64 in, b = 98 in

Answer: ____________

Total: ___ / 20
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Answers:

1) 5/9 2) -19 3) 18 4) 5 5) 22 6) 2182.8170302387in 7)

8) 2.7 9) 264in 10) 249.41531628992m 11) 249.41531628992m 12) 249.41531628992m 13) 249.41531628992m 14) 11.124

15) 11.124 16) 13.5 17) 171.9 18) 83/4 19) 56ft 20) 3136in
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